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Peripeteia means :

A) turn-round' or a reversal of fortune
B) recognition or realisation
C) misfortune or downfall

D) return to former glory
Correct Answer :- A) turn-round' or a reversal of fortune

"Tis more to guide than spur the Muse's steed;
Restrain his fury, than provoke his speed;
The above lines are found in

A) William Blake's "A Vision of the Last Judgment"
B) Abraham Cowley's "On the Death of Mr. Crashaw"
C) John Dryden's "Anne Killigrew"

D) Alexander Pope's "Essay on Criticism"

Correct Answer :- D) Alexander Pope's "Essay on Criticism"



Point out the poet who was acutely conscious of the spiritual barrenness of his
age :

A) P.B. Shelley

B) John Keats

C) William Blake

D) W.B. Yeats
Correct Answer :- D) W.B. Yeats

"Laughing the stromy, husky, brawling, laughter of youth, half-naked
weating, proud to be Hog Butcher, Tool Maker, stacker of wheat
Player with Railroads and Freight Handler to the Nation."

These are the concluding lines of the poem

A) Who Am1?

B) Monotone

C) Chicago

D) Prayers of Steel
Correct Answer :- C) Chicago



One of the following is not considered to be in the family of Indo-European
Languages.

A) English
B) German
C) Tibetic

D) Sanskrit
Correct Answer :- C) Tibetic

Matthew Arnold's resembles that of Gray in its subdued
melancholy resignation.

A) The Scholar Gipsy
B) A Summer Night
C) Thyrsis

D) Sohrab and Rustum
Correct Answer :- B) A Summer Night



It is certain that up to a point, Nostromo of Conrad can be read as a
novel.

A) historical
B) lover's
C) gentlemen's

D) reformer's

Correct Answer :- D) reformer's
One of the following is not the Scandinavian contribution to the English.

A) hit
B) take
C) casino

D) ragged

Correct Answer :- C) casino
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One of the following is not found in the movement of Romantic revival. Identify

A) Subjectivity
B) A spirit of reason and good sense
C) Free play of imagination

D) Depiction of Country life

Correct Answer :- B) A spirit of reason and good sense

Of the three Germanic tribes settled in Britain, the Jutes setted in the place
named

A) Wessex
B) Sussex
C) Kent

D) Mercia

Correct Answer :- C) Kent
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Choose the correct sentence from the options given below :

A) Will you have some many sweets ?
B) Will you have some more sweets ?
C) Will you have any more sweets ?

D) Will you have any much sweets ?

Correct Answer :- B) Will you have some more sweets ?

Four of Barthes's classification of literary codes in fiction are given below. Find
out the wrong code.

A) The code of actions (proairetic codes) asks the reader to find meaning in
the sequence of events.

B) The code of puzzles (hermeneutic code) presents the crisis of the event.

C) The cultural code refers to all the systems of knowledge and values
involved by a text.

D) The connotative code expresses themes developed around the characters.

Correct Answer :- B) The code of puzzles (hermeneutic code) presents the
crisis of the event.
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Choose the correct sentence from the options given below :

A) Best the suit much more money it would cost.
B) Better the suit so much money it would cost.

C) The better the suit the more money it will cost.
D) The better the suit the more money will it cost.

Correct Answer :- D) The better the suit the more money will it cost.

"Amoretti" describes Spenser's love for

A) Elizabeth Holmes

B) Elizabeth Amherst

C) Elizabeth Boyle

D) Elizabeth Mitchell
Correct Answer :- C) Elizabeth Boyle
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Northrop Frye, in his "Anatomy of Criticism" indicates four seasons and their
correpondence four genres. Which of the following is wrongly paired ?

A) The mythos of spring : Comedy

B) The mythos of summer : Romance

C) The mythos of fall : Satire

D) The mythos of winter : Irony
Correct Answer :- C) The mythos of fall : Satire

There can be no reconstruction or hope for this land of ours, unless we eradicate
the worship of force in all its forms, and establish work on a basis other than
violence". Who made this statement to support the doctrine of M. K. Gandhi's
"Satyagraha" ?

A) C. Rajagopalachari

B) Pandit Jawaharlal Nehru

C) Sardar Vallabai Patel

D) Sarojini Naidu
Correct Answer :- A) C. Rajagopalachari
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The branch of ecology studies on individual organism including its life history
and behaviour to the environment is called

o uifler unpSEensds GFLpSnsrer Ly L, e1ps LNdle), et o ullf
UMPI&T TP DI LPDILD FLSMSW ST HFHDIGLIISG B)®aTSS
F | AIHS TN LPHSLILIBHF DI,

A) Synecology

Qe o 1 PeT UTLpG S @Lpad
B) Autecology

oL o wifer aumpsans @pad
C) Niche

£Gs
D) Population

L0 EST0)H Ten %

Correct Answer :- B) Autecology

On the basis of seismographic studies on animal behaviour made prediction in
the year 1970s by the

1970 —9y10 9pe1(®), BlovnBHS% u@@@ﬂ_@ L9 L1960, alev & Fefeir b e ulesr
ELPAVLD QIBGUPST FDIS PSS HTEG

A) India
QrHwr
B) Europe
@G
C) USA
Qg T
D) China

Festm

Correct Answer :- D) China
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In India lowest density of population is in the State of

@ BRWTaI6) TS LOTBWSHV GBS LOEHHET CGTens YL FSF 2 aTengy) !

A) Jammu & Kashmir
ap & srapLbi

B) Sikkim
s F) LD

C) Mizoram
LOCFTILD

D) Arunachal Pradesh
9 (HewTTFeVLILNTCHFLH

Correct Answer :- D) Arunachal Pradesh

Varghese Kurien is considered as the father of
India.

uF&ed GAwer eraTLIIT ()5S W TaT 6D
F(BSLILIBHS D .

A) Green Revolution

LGHLOLT LTl &)
B) White Revolution
Gleuarenarti Ly &
C) Blue Revolution
Beoll Ll &

D) Golden Revolution
SBISL LTl &)

Correct Answer :- B) White Revolution

(Revolution) in

& SHEOFH GTRTM]
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Under the Ministry of Environment and Forests, the Indian Council of Forestry
Research and Education (ICFRE) was created in the year of

FDMIFEHLPG LOPMILD HT(RFET W LDFFHSHFBGT HLp, @B ST(HFOT Y TTUIFF)
LPMILD FOI FewLI o (haUTHSHLILIL L QU(hL_LD .

A) 1897
1897
B) 1987
1987
C) 1978
1978
D) 1879
1879

Correct Answer :- B) 1987

'Black Ore' is otherwise called as

'gs@pLIL 15 eTeIm) MPESLILIG B D).

A) Limonite
GewBromemeart”

B) Magnetite
Ggesenr 1L~

C) Siderite
FL_eogL

D) Haematite

Gamipenr "

Correct Answer :- B) Magnetite
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Hot weather season in India begins between the months of :
@pFwraled GleuLiLs eureflency &mrevLd DTS 1% @G @) enL_uileD
2 (HhUTH D).

A) December - March
W FBLIT — 1omid

B) March - May
orjg — Gio

C) June - September
e — QFLiL_thLg

D) October - December

9$CL_mug — 19 FHOLIT

Correct Answer :- B) March — May

The dynamic concept about the origin of monsoons forwarded by

LI(BISFHTDM] 2 (HeuTeuSDSHTesT, CausLd Fmiks LG &HSPenat LD (Lpesr
B YEL Vi .

A) Maung Tun Yin
LomeyEid Bt ulesr
B) Halley
ammGev
C) Flohn
oD LIMTGET
D) Sir Gilbert Walker

FJ BOLITL. UTHHT

Correct Answer :- C) Flohn
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In 0° latitutde hours has longest day or night.
0° 9" #Crevsuiled ewsf] CBaLd BewTL LIF6D YeOevgy HewT_ (Q)T6y
25 ) (HHSLD.

A) 13
13
B) 24
24
C) 15
15
D) 12
12

Correct Answer :- D) 12

has a head which is a collection of solid fragments and a tail

sometimes millions of kilometers long made up of gases.

24,6151, BL_GgFersaier CFigens Ol&TewIL Fev LOMHMILD
T ferTed HessTl LBOSWIGT &).L5. HITLD 2 (FeUTSSLILIL L QUT6D 9% W6 D) med
emLowiL] ClLpmIeTeng).

A) Meteors
6Tl GoT
B) Comets
QTG [BL FSHFILD
C) Asteroids
&m1mI G meir
D) Meteorite
) Cpra& eu@pd SLifpLbLimevnes Gi_Li0)LimpeT

Correct Answer :- B) Comets



27 Which of the following steel plants were established during the Second Five
year plan period ?
1. Bhilai,
2. Durgapur,
3. Rourkela,
4. Salem

@) uewTL_meug) @EsTeT(h) S L FH e Clumipgy OsTL_misLiLIL L @)(HLOL] 6To> S,
SLENGVE AT WD ?

1. Devmui

2. gigsmyd

3. epgGxeum

4. Ggovid

A) 1 and 4 correct
1 wpmid 4 sHuwiresg)
B) 1,2, 4 correct
1,2, 4 sflwneseneu
C) 2,3 and 4 correct
2,3 wpmid 4 sHluneTeoau
D) 1,2, 3 correct

1, 2,3 sflwreweneu

Correct Answer :- D) 1, 2, 3 correct
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The growth target of the Eighth Five Year Plan was per annum.
6TL L Toug| @ BSTewT(R) HL L 5F6T 9),ew70)L_TeImI% @ UTiFF Q)EH T F5ais LD

A) 5.6%
5.6%
B) 4.6%
4.6%
C) 6.5%
6.5%
D) 5.0%
5.0%

Correct Answer :- A) 5.6%

The National Rural Employment Guarantee Scheme (NREGS) was introduced
in

CsPw SymwoLiymn Causweveuruitiyy 2 sgaunsg i 116 (NREGS)
B PSLILINSSLILIL L )

A) February - 2006
igeur) 2006

B) February - 2007
igeud 2007

C) March - 2006
wmggs 2006

D) March - 2007
wrjgs 2007

Correct Answer :- A) February — 2006



30 The Indian Economic Development in Tertiary Sector on :

31

@BPwLr Qurpernsmy euerTiFuiled epIDTLD BleOSHIOD

A) Industrial Sector
Clgmifladgieom
B) Trade and Banking sector
QUIESIILILD LopmILD IBIFS S
C) Agricultural sector
afleugmus gieom
D) Forestry sector
ST UTLHSEDS FIeWD
Correct Answer :- B) Trade and Banking sector

Indian Five Year "Plan Holiday" was .
QBPwralled @psTan® G L_sHar alBLpemp HrevLd

A)  1950-53
1950 - 53
B)  1959-63
1959 - 63
C) 1964 -65
1964 - 65
D) 1966 - 69
1966 — 69

Correct Answer :- D) 1966 — 69



32 Ninth Five Year Plan approved by National Development Council in India

@ pFPwrailed @erLsTuG @bSTaT(h HL L FSens CsFW uaTiFF @ LpLoLd
9 EISEHNBS 4, e8T(h)

A) March - 1999
womggs 1999

B) April - 1999
aLiga 1999

C) February - 1999
igeu) 1999

D) May - 1999
Go 1999

Correct Answer :- C) February — 1999

33 The Fifth Five Year Plan was terminated in India at the end of
Q@ BHwTaled @ESTIL 2BSTewT(H G L 1D (LpLyey CFwiwiivi’ L oy et

A) March - 1978
womjss - 1978
B) March - 1979
wmrjgs - 1979
C) March - 1976
wmrjgs - 1976
D) March - 1977

wrgds— 1977

Correct Answer :- A) March — 1978
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The National Planning Commission was set up in India in the year :
Cas8w S 1L Gupeutersd QBPwnalled yenwssLiL’ L e :

A) 1949
1949
B) 1950
1950
C) 1951
1951
D) 1952
1952

Correct Answer :- B) 1950
The Swarna Jayanti Shahari Rozgar Yojana (SISRY) was introduced in

aveugent Owr® Fanmfl Curmeavas Cumemert oyB(LpSLILIGSSLILIL L G

A) March - 2008
wmrjgs — 2008

B) April - 2009
arLiged — 2009

C) May -2010
G —2010

D) June - 2011
agear— 2011

Correct Answer :- B) April — 2009



36  The steps taken by Government to remove Urban Poverty in India is

1. Nehru Rozgar Yajna

2. Prime Minister Rozgar Yajna

3. National Social Assistance Programme
4. Minimum needs programme

@BpFPwralled FHFLILID UDIGHLOEW HFEDD HTF 6T(HSD bL_6LYDEWHSET

1. Gy Gomavas Cuimggestm

2. 998w wEPH Crreaves Guimsgesrm
3. Csw FapsLd 2 5098 B L LD

4. seoppsLL s Cseneu S L Lb

A) 1,2 and 3 correct

1,2 wpmid 3 sRwresenc
B) 2,3 and 4 correct

2,3 womid 4 sHluneTeau
C) 3,4 and 1 correct

3,4 wpmid 1 sRwresencu
D) 4,1 and 2 correct

4, 1 wpmibd 2 sfHlwnesienal

Correct Answer :- A) 1, 2 and 3 correct
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What is the greatest contribution of Ramakrishna Mission under Swami

Vivekananda ?

FourLl) aIGCeusTaTps e $emeven oUIe) FILDS) (heokewT LOawesenL W (LpsbF

LImISefLiL eTesTesT !

A) Religious Philosophy
FLOoW PSS THSLD

B) Vedanta Philosophy
Cougnps HSSTHSLD

C) Concept of Ahimsa

B DDF C\FTaTeNS

D) Concept of Swedeshi

059w Clsmerens

Correct Answer :- B) Vedanta Philosophy

The executive power of the State is vested in the :

LOTBleV TFST Bl(HUTESHIHD Y BHTILD () (HSSGLOL_LD

A) Governor
2% @551
B) Chief Minister

Wpsweis

C) Legislative Assembly
omdlev FL L LoaTLh

D) Cabinet

9O LDFFTEH 6L

Correct Answer :- A) Governor



39  The Fundamental duties of the citizens enumerated in the Article of the
Constitution :

QY TAWVMLOLILIG) LDESE@FHS TG LY LILIGHL FHL_GOLOFAT 6ThS5 IS F 6V
upmSLILIL (heTereT ?

A) S1A
51 A
B) 51 B
51B
C) S1E
51E
D) 51F
51F

Correct Answer :- A) 51 A

40 Who was the Governor General of India at the time of 1857 revolt ?

1857 — 910 a1 L' P sTwsHed QBB W Seujesty OleerIevns
LgN NS BBSeIT wimg ?

A) Lord Dalhousie
L e0Glamerd 9Ly

B) Lord Canning
sreilm 1971y

C) Lord Ripon
et 9y

D) Lord Curzon

FiFer L1y

Correct Answer :- B) Lord Canning



41 Who is the guardian of Fundamental Rights in India ?

@BpFwrailed 9y Litieor o few oSN LIMGIHTOIGGT TGS e LpS5LILI(H LG T
79
wimg !

A) Constitution
9 TFWGELDLIL
B) The President
G UWIFS S®VaIT
C) The Prime Minister
o5 oS
D) Supreme Court

o F&F BF DGO LD

Correct Answer :- D) Supreme Court

42 The Portuguese travellor Vasco da Gama reached the Port of Calicut on :

araflECHTL oL FHewm (LpFHSF 60 aume CHTLT STLOT UBFDEIF 55 T(R)

A) 1497
1497
B) 1498
1498
C) 1499
1499
D) 1500
1500

Correct Answer :- B) 1498



43 Krishna Deva Raya belonged to this dynasty :
Fmayewt Caupmui Q)Bs aIDFSS FIFHSIT .

A) Sangama
FBISLD
B) Saluva
FRIQUT
C) Thuluva
iyt
D) Araveedu
2 70i®
Correct Answer :- C) Thuluva

44 Under which Article of the Indian Constitution is the financial emergency in
India proclaimed ?

@BPw YrRweweLLILNe) 6ThS oy IsP 6T 9Ly LiLienL_uled OLImBeTTS Ty
QuFIBleoew LIS aTLILIRSSLILIGS DS !

A) Article 356
o855 356
B) Article 358
ap85 358
C) Article 359
N ELTIRRL
D) Article 360
apr55 360

Correct Answer :- D) Article 360



45  Who is called as 'the Master of the Seven notes of Music' ?

@eFuiled "erp Fumseafier Gens' eTeny yewpSSLILIL L auf

A) Pandiya Nedunchezhiyan
umestigw )5 (b eh OlFLfw esr
B) Cheran Senguttuvan
Gapesr Glami@L" (B euesr
C) Karikalan
& [fl% TV 6oT
D) Mahendiran I
wpFTLd LG b B geer

Correct Answer :- C) Karikalan

46 The Federal Constitution of India has adopted the Constitution of the :

@BDW Fn L LT F Y pFweenioLiL] @)QIENS TFTEIS (LD GIMHMIGTATS .

A) Union Government
DS P 9 TFTBISHLD
B) State Government
LDTBl6V O TFTBISLD
C) Union and State Government
OSSN LDPHMILD LOMTBIGV O TFTIBIBI%GT
D) Local Self Government

BH6V Flll 9 TFTBIFBISGT

Correct Answer :- C) Union and State Government



47  The main source of the Indian Constitution from which the Constitution has
been taken.

@BpFw rFweven o Lit)DSTesT LNTSTET FTIBISET 6THhS FL L 5 F 60 (BbII

TRSSLILIL L g ?
A) Actof 1909
1909 15 Syaw@d oL L L5
B) Actof 1919
1919 —15 syaw@d oL 115
C) Actof 1935
1935 —15 syaw®d oL L 1)
D) Actof 1947
1947 —15 syaw®d oL L1
Correct Answer :- C) Act of 1935

48  Which is the First Settlement of the Portuguese in India ?
@ pFwrailer CurisgsEFwiseler (pFed GLyCuUPmLd HeoLDBS Q)L LD :

A) Calicut
ForenECsmL enL_
B) Cochin
Q& 1&s)

C) Tranquabar
SIBISLOLITLY
D) Nagapattinam

[BTSHLILIL 19 GSTLD

Correct Answer :- B) Cochin



49 Who organised green turbaned peasants agitation in 1972 ?

50

1972 —@)6d Lidewa semevLiTens Glasrewn afleusmullsafier Gumym' L g
BLS@uweug wrg ?

A) E.V.R. Periyar
. Qeu.gm. Qufwmg

B) Narayanaswami

[T W GRTFTLE)

C) Nallakannu
b6V GV GBI GBY)/
D) K. Kamaraj

Gs&. &mLogmed

Correct Answer :- B) Narayanaswami

Who was the First Nayak Ruler of Madurai ?

D& e TUINGST BMUSHT QULDFS BT (LpS ST L Fwimery wirg ?

A) Krishnappa Nayak
B meyeILIL FTLEST
B) Visvanatha Nayak
SedeUBTS BFTLEST
C) Tirumalai Nayak
BB FTLSST
D) Chokkanatha Nayak

O FTsSBTS BTWSST

Correct Answer :- B) Visvanatha Nayak



51 Annie Besant established the Home Rule League at :
963161 QLI QWGHTL. YLD LDW TT ST §) QuIsHFemS 615G Blniallerty ?

A) Bombay
LibLmul
B) Calcutta
BOSEHT
C) Madras

O FesT6ew GOT

D) Lucknow

s Geurr

Correct Answer :- C) Madras

52 Who is called as the 'Prince of the Travellers' in the middle age ?

FSPW FTVSH 0 'Liwicwflsafler ()aTeugFet 6168 e pBEHLILIL L QU

A) Vasco da Gama

oaume CHmTL_ HaLDm

B) Columbus

Q& mevLbLIGD

C) Marco Polo

wriCsm CumGevr

D) Pliney
19 el ef)

Correct Answer :- C) Marco Polo
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54

In which Tamil literature, the word 'Sangam' 1s used?

FRIGLD TR UTIHWS LWRTLRHSSLILIL L SO QevEFw HreD

A) Agathiyam
ASSGWILD

B) Tholgappiyam
OsmedsTL WL

C) Thirukural
S ns@par

D) Iraiyanar Ahapporul Urai

@ epwetTg SLIOLIT(HET 2 e

Correct Answer :- D) Iraiyanar Ahapporul Urai

In which year the University of Madras was established :

O FGIm ST LIVEH®VS HLPHLD 6ThF HeT(h) CHmpmialssiic’ L g ?

A) 1854
1854
B) 1855
1855
C) 1856
1856
D) 1857
1857

Correct Answer :- D) 1857



Which Carnatic War was ended by the Treaty of Paris ?
urfed RUUBSSB ST LI 6ThS SHBTLSLI CUITT (LpLgayE@ b !

56

A) First Carnatic War
PSS SipTL_sLl Gy
B) Second Carnatic War
@ uesstL_mid sipmL_sL Gumg
C) Third Carnatic War
eI LD HIBILLI GLimy

D) Fourth Carnatic War

BAGTSTLD SIHML_sL1 GLimg

Correct Answer :- C) Third Carnatic War

Who founded the 'Atmiya Sabha' ?
' sLlw Femuemw', loeflweus wrg ?

A) Raja Ram Mohan Roy
gregm gt GuomseT gl

B) Keshav Chander Sen
Casou pGr Gloar

C) Devendranath Tagore
CsCaup@IpTs $ns.i

D) Swami Vivekanand

FourLh) aGousmeTnhs i

Correct Answer :- A) Raja Ram Mohan Roy



5 7 The area of the following shape is :

A) 48 cm?
48 cm?
B) 49 cm?
49 cm?
C) 52 cm?
52 cm?
D) 47 cm?

47 cm?

Correct Answer :



58  Find the HCF of 51, 85.

51, 85 crewBEREGL LB, QLS. STaws ;
A) 9
9
B) 12
12
C) 17
17
D) 13

13
Correct Answer :- C) 17

59 5 boys or 3 gitls can do a science project in 40 days. How long it will take for 15

boys and 6 girls to do the same project ?

5 et yevevg 3 Guerasar Caipg yplalwe F L psae 40 prlsalle
Qeuigeri. 9Gs% yPladwed G L pasenev 15 gy ersar wopmid 6 6)Lierser
QFUISTeD TLIOLITUPSI (LPLYLILIT

A) 6 days
6 B sair
B) 4 days
4 B sair
C) 8 days
8 BT sair
D) 12 days

12 prl sar

Correct Answer :- C) 8 days



60 A and B together can do a piece of work in 16 days and A alone can do it in 48
days. How long will B take to complete the work ?

A —ayid, B—uyd Gaipgr gy Couswevenw 16 prsefled (wprygseri. A ' B
2/Gs Goauewevenw 48 B ser OFuismy e1estied B Qauiuyd Gauemev B sar
1SSt 7

A) 24
24
B) 21
21
C) 18
18
D) 27
27

Correct Answer :- A) 24

p2—1Dp+Elxpz+p—12

Simplify :
61 ﬂ'-? [D_S,]E
: pZ-10p+21 p2+p-12
F(HE5GS : X .
p-7 (p-3)°
A) (p+4)
(p+4)
B) p+4)(p-4)
Pt+4 (P-4
O (pra)p-4)

P



(p+4)(p-4)

P
D) p
(p+4)(p-4)
p
(p+4)(p-4)

Correct Answer :- A) (p +4)

62 Ifa=00,b=01,....,z=25 then addition is :
a=00,b=01, ....,z=25 erasfle addition erarr1gy :

A) 030821081808 1413
030821081808 1413
B) 000303190808 1413
0003031908 08 14 13
C) 000303081908 1413
000303081908 1413
D) 000303081908 13 14
000303081908 13 14

Correct Answer :- C) 0003 03 08 19 08 14 13



63

Depreciation value is calculated by the formula :

G uipmest LOFBLIL] 6ThS FSHILD eLpevLd SeTES) L LIS D ?

A) : .\
F[l-—]
100,

N

P[I-L]

100,
B) rszn
P[]-_J

L 100

n
F[I ' 1{;::)]
Correct Answer :- A) '



64 Find the missing number :

4 8
10° 18 14° 22 11

el(LLIL_L eT6toTemennl &eoor(L'Lillg :
4 8

15

10 18

A) 6
6
B) 8
8
C) 10
10
D) 14
14

Correct Answer :- C) 10



65

66

1,1,2,3,5, .... then the eleventh Fibonacci number is :
@9 1,1,2,3,5,.......... uBCesrmpreug 191CeTnd) 616557 6T68T6RT 7

A) 55
55
B) 77
77
C) 89
89
D) 144
144

Correct Answer :- C) 89

If the number 6354 * 97 is divisible by 9, then the value * is :
6354 * 97 opergy 9 Y U@GSSLILIGLD eT6vlled * —(@Q)aT Lo@LIL :

A) 2
2
B) 4
4
C) 6
6
D) 7
7

Correct Answer :- A) 2



67

Complete the following pattern :

G—I‘-

1

2

L

aufleng (LpsmmemiL! Hlsnme)| QFIiLG :

{r"

1

L

A)

B)

9)

L

v




68

D)

ol

Correct Answer :- B)

The number of days between the Republic day and Kalvi Valarchi day in 2020
is

2020 —gy1d et @QBHWE L WIFH DTSHD GLD, FO@T UATTFF) BTEHSEGLD
@ enL_ulled o aTar BTSN OTS FHewTHEF) (HS

A) 181 days
181 pr sar
B) 191 days
191 pm sar
C) 182 days
182 pm sair
D) 172 days
172 pm saeir

Correct Answer :- *



69 The area of the following shape is :

4cm

4cm

4cm \_

&S LIL & &601 LJUILIEN6) SHT6HTs :

4.cm

4 cm

4 cm

A) 64 cm?
64 cm?
B) 78 cm?
78 cm?
C) 80 cm?
80 cm?
D) 72 cm?

72 cm?

Correct Answer :- C) 80 cm?



70 The sum of two numbers is 36 and one number exceeds another by 8. Find the

71

numbers.

@ uessi(h) eresTH el G Fn (BFe0 36. GroeyiLd yeuPmieT e 616wt Lo Gm M 6TesTEm GYST
ol 8 YP&LD 61651160, 2 BS CTCRTH OGS HTGETH .

A) 22,14
22, 14
B) 20, 14
20, 14
C) 22,16
22,16
D) 20, 16
20, 16

Correct Answer :- A) 22, 14

The points (1, 1) (2, 2) and (a, b) lie on a same straight line.
(1, 1) (2,2) wpmid (a, b) @w yerelser oyewearsgid @G CriGsm g ed
DLDBF (S GLD

A) a=1,b=2
a=1,b=2
B) a=2,b=1
a=2,b=1
C) a=3,b=2
a=3,b=2
D) a=3,b=3
a=3,b=3

Correct Answer :-D) a=3,b=3



72

73

The numbers 29 and are twin primes.

29 wpmib PN GTTFHAT @)L GWL_LT LIGT GTGSIHAT & LD.

A) 31
31
B) 32
32
C) 30
30
D) 33
33

Correct Answer :- A) 31

Ifa=00,b=01I, ....,z=25 then division is :
a=00, b=01, ..., z=25 erafle division ererLigy :

A) 030821081808 1413
030821081808 1413
B) 030821080818 1413
0308210808181413
C) 030821081808 13 14
030821081808 13 14
D) 00082108 18001413
000821081800 1413

Correct Answer :- A) 030821 08 18 08 14 13



74  Find the opposite number of 1 in the following dice.

Clam (b &I (H6Ter UsSenL_ILTl6D 1 —&(@ THIGIT 2_6T6I 16607 :

9 9

A) 3
B) 4
Q) 5
D) 6

Correct Answer :- D) 6

0.2x0.2+0.02x0.02-0.4x0.02
0.36

75 The simplification of

0.2x02+0.02x0.02-0.4x0.02
0.36

& (HSHGHS :

A) 0.009
B) 0.09
C) 0.9
D) 9

Correct Answer :- B) 0.09



76 A pictograph is also known as :
UL eTEsLILIL 5695 I, mF w5 6V

A) Pictoword
L9EGL_m Goug(®
B) Pictogram
195G L1 S gmd
C) Pictophrase
195G L1 118w
D) Pictograft
95C8Lm K gmLil’

Correct Answer :- B) Pictogram

. e XF2 x2 -x-6
77 Simplify — B
4y 12y~

2
; X+2 xX"-xX-6
& (Ih H(HD =

. 4y 12y2

A) 3y

X-3

3y

¥x-3

GTRTRYLD S eDLPHBGVTLD.



78

79

¥+ 2
D) SYE
=
(x-3)"
Syf
=
(x-3)
3y
¥x-3

Correct Answer :- A)

If n is a positive integer then gcd of (n, n+1) is :
n @@ Lievsuprp eresfled L5.Clumeu (n, nt1) sy gy :

A) 2
B) 10
0 1
D) -1

Correct Answer :- C

What is the greatest number that will divide 62, 78 and 109 leaving remainders
2, 3 and 4 respectively ?

62,78 wpmis 109 — eu@ss wpepGu 2, 3 wppid 4 —g9 15Pser15s
QsTRS @D BLIGCLIMm CLITg$ Smyewt] eTesres ?

A) 12
B) 30
C) 35
D) 15
Correct Answer :- D) 15



80

.'."l." ."'ﬁ TT

Find the area of the shaded part of the following figure.

;fa”'

/
l"’l’fj,ﬁ' .'.l".'il‘:. /."' ,l’,‘l"
;_#f/ -"’.-"-"f
.r'l_."'l,a':l \\‘-i__qf
‘I’JI";-"II.I-"Ir .'l "f.-' -"Ill
IIJII"II.' |'
f -” .n‘/ff
;,rr,s f
10cm

eiTe) (HLD LIL_G&leDd HILDeOIL_ LI (Remem L@GSI6 LFULIETsned STeiors :

A) 78.5 cm?
B) 21.5 cm®
C) 100 cm?
D) 50.5 cm?
Correct Answer :- A) 78.5 cm?

81 MLL - Means
MLL - eresrig) :

A) Minimum Levels of Learning
FDD GG (HODBSLILF 96 % 6T
B) Minimum Logical of Learning
SDDGT (GHODBSLLF F[F5H%a0 W0
C) Minimum list of Learning
SDDEGT GHODBSLLF LIL" 19 ULI6D
D) Minimum Learner of Learning

SOOI GHDBSLIL FLD SHMIG Ol&TaTLIGT

Correct Answer :- A) Minimum Levels of Learning



82

83

Evaluation in education insists on the following :

safluiled LG LILI®R) 6TTLIG FLHSFHHTL_UPemD auedliymIsSHIF DS

A) Making tests more reliable and valid

G iaFeaT LOFHa LD BLOLIGSSGEIGHLD 2 GOL_WISHILDTH GIHL|GHL_UIG|LDTH
QLY AUIGHLOF S GO

B) Conducting periodical tests to detect students weaknesses

LDTERTRU ST HeVa DM ST GHDLUT(HFH®aT HYmlw LiHeus Gz iesaeT
BL-BSIS5

C) Insisting on clear cut behavioral objectives of teaching

#DL98556061 CHIssmIS6T, FL 0SS epEsTeT O\Fafeures GprdEsmiseaer
I EE TR,

D) Examining students objectively for selection purpose
Gaiay CFuiyd Crrs@L e LressialisemarsnFriier) LfL HFse
Correct Answer :- A) Making tests more reliable and valid

Who said, "True Learning is Judicions forgetting" ?

"o curewLowinest FSPO LOF@LD HaIGTLONS LPESLILIBGEDS" TG FPwiaiy

A) Watson
QML FG8T
B) Atkinson

9/ L&) a1 F 6T
C) Adam
QpL_LD
D) Angell
6T EHFGV

Correct Answer :- C) Adam



84 Forgetting curve experiment was done by :

85

PSFV aUeare) LflCFISNGT 6THGT pLpGLD 2 (FUTSHLILIL L )

A) Bartlett
Ll Qe
B) Ebbinghaus
e1L1LY 68755 merd
C) Wallace
QUTVGV
D) gagne

&3 0) et

Correct Answer :- B) Ebbinghaus

Honesty is an example for :

CrieoLD 6TGTLIGI 2 STITGTLONS F(HSLILI(D U] -

A) Abstract concept
LIQVGTTHTS & (5SS

B) Concrete concept
Csi@ e &®}531

C) Complex concept
FEFH T & (DG

D) Simple concept
eTafli &(BSSI

Correct Answer :- B) Concrete concept



86

87

The psychologist William Stern is associated with :
aflvadwLd ev0)L_ger eTeip 2 eraflwewrerGor® G _fyLiL®SSLILIB G

A) Learning
FMDD GV

B) 1Q (or) (Intelligence Quotient)
sissTanTlay ey (0r) 1Q

C) Memory
plenesa)

D) Perception

LIQVGETHTL &)

Correct Answer :- B) 1Q (or) (Intelligence Quotient)

Analytical school of psychology was established by :
u@LuTe 2 eraflwed Leatafleow CFmmmiailssed

A) Freud
Ligmuil”
B) Adler
L
C) Carl Jang
STHad 29aiTs
D) Allport

< wCumiL”

Correct Answer :- C) Carl Jang



88

89

Who said "Interest is Latent attention and attention is interest in action'" ?

" ieILD GTGILIZG 2 GTE@HEND SeUGTLD LDPMILD HeUeTLd O)FWESe) Y TaILOTS
2 areng)" e1aIm FmmMweig wimrg ?

A) Ross
JTer
B) McDougall
D& (% %6V
C) Crow and Crow
&Com wpmid &Gom
D) Drever
L QgQeug

Correct Answer :- B) McDougall

The errors in perception are classified into :

Hoers Tl Fuillet LenpsaT euensLiLRSSLIL RIS

A) Two
QuesT (R
B) Three
eLP T
C) Four
BTG
D) Five
253!

Correct Answer :- A) Two



90

91

The basis for percepition is :

LTSI F& G LY LILIGHL_WTH FEHLHoUS

A) Imagination
SPLIaT

B) Memory
BleweTa

C) Attention

%@ GTLD

D) Stumus

SIGVBIH GV
Correct Answer :- C) Attention

The reliable method of understanding pupil's is behaviour in the class room by:
U@GLILIGHD UG LDTERTeUF%eMNGT BL_GenSHMaTLI LHBS5I% 0% TaT@HLD [5LDLISLD TG
D .

A) Introspection method
95CB1%5G (LD

B) Observation method
2 pmICHEISH® (LoD

C) Interview method
Crissmenied (LpeoD

D) Case study method
SNWTAT Y UIQY (LpEHD

Correct Answer :- B) Observation method



92

93

Group factor theory of intelligence was given by :
&@p Fmuest] piesstentpley CHmL LT 1g eneT auLpBEIG W] :

A) Guildford
&0 GLimg(h
B) Thurstone
S a0 GL_mesr
C) Spearman
o LW F6) Lo GvT
D) Thorndike
STIeETEO L5

Correct Answer :- B) Thurstone

Field theory of Learning was propounded by :

FaTEEPDO CHTL LI 19 6T 6T(HSSHIHISSAIT :

A) Kurt Lewin
SmiL eufar
B) Spearman
eV 9w g6 Lo 63T
C) Allport
o BLimiL
D) Skinner

e &) GeTeuT

Correct Answer :- A) Kurt Lewin



94

95

The term "Mental hygiene " has been given to us by :

"oVl HEHMSTIL" GTGID LISSP oT 2 aNSSaIT |

A) C.L. Pierce
C.L. Qwgev
B) Clifford Beers
SefLiCuri® Lfiev
C) Skinner
oV &) GoreuT i
D) William James
aflevedlwd GgoLbew
Correct Answer :- B) Clifford Beers
The psychologist charles Hudd is associated with :

2 erafwevrery miewaed ap —Cur® QT jyLiL@®SSLILB IS :

A) Theory of identical elements
R55% FpIFHaT CHTL LIT(H

B) Theory of mental discipline
LSt p(Lpmi@ Camm®

C) Theory of transfer of learning
ulpd wrppd Csrum®

D) Theory of Generalisation
Qg LiLiHSHS0 CHrL Lim®

Correct Answer :- D) Theory of Generalisation



96  Verbal Association is a part of:
Gyl QST @F LIBISI%S 9eLDeUF) :

A) Gardner's theory of multiple intelligence
STiLawfles Licdauans mlewrentdleay Gam Lim(
B) Piaget's theory of cognitive development
DwrGeuilesr P mesr auaris® Gsm Ln®
C) Bruner's theory of instruction
Lieparfar 59850 Gsrum()
D) Gagne's theory of learning

%1% Gestullest Fpmed CHrL”Lim(®p

Correct Answer :- D) Gagne's theory of learning

97  In which type of Guilford's dimension the components, covergent, production,

divergent, memory and cognition belong to ?

LD, GNFRpsmeTt, ol EFBFmert, BlanaTa), mFe0 98w HeOGLmih

Casm LIT(RSeN6T LIfLDTeSTBIS 6T TH 6D SyL_mIEGLD ?

A) operations
ClFwaseT
B) products
@969 GIT6Y % GIT
C) content
QL seT
D) units

RINGEDRY

Correct Answer :- A) operations



98  The period of concrete operational stage is :

LsLl QuUITh L Sel6T BleoevEEH T STev Ta

A) 0-2
0-2
B) 2-7
2-7
C) 7-11
7-11

D) above 11
11 —g@Ld Guoed

Correct Answer :- C) 7 - 11

99 1n the Constitutes of school education S.S. means ?

uetells svallg CFmL_guns S.S. e1arLig) eTenss GPILILHS DS

A) Sarva Shiksha Abhiyan
SPETAUGEGL Sdai @) UESL
B) Samagra Shiksha
RO EG B Hevai
C) School and Society
LigiraRuyLb FepasupLd
D) Social Service

FLpsTus 6% meust(h

Correct Answer :- B) Samagra Shiksha



100 Which of the following term referred to education teaching during the British
rule ?

AL L &1 9" 3 16vEPD ELHEGSDSS 6165 2, mIFH6vF OlFTeD
sadail spLsgsme GBlLLg Huipm ?
A) Instruction
9%z | CGLngemes
B) Learning
FMDD GV
C) Listening
GCasL’ 160
D) Speaking

Cuss 0

Correct Answer :- A) Instruction

Human's height, weight and obesity denotes.

101 LoesfFesflesr 2 wgLh, eTenL_, LIHLOGT & weneu GHmILILI (B eugy)

A) Maturation
WPHIFE

B) Growth
UGTITFS

C) Heredity
gL 9uwied

D) Development
LpTGeTmmLD

Correct Answer :- B) Growth



102 Stimulus - Response is due to :

SITGHTL_G0 — FIGVBIFHG 6ID LI(HUSBMDEH TG S TTGRTLD -

A) Brain
eLO G GIT
B) Maturity
LB F&E)
C) Sense Organs
QUG 2 LIL|FGiT
D) Experience

<9/ W)/ LI GBI 6T

Correct Answer :- C) Sense Organs

103 Adolescence is a period of storm and stress - said by :

GLILILIBILD Q@(h FSHQTT HeOFWDHD LI(FQULD 6TRTD] FonHWIGUT

A) Brickson
19 PG gt
B) Cole
Gamred
C) Stanley Hall
o GL_6t168) @ Tad
D) Willam McDougall

aflevadlwLd Lodk (R e

Correct Answer :- C) Stanley Hall



104 The first step is Teaching is :
&0 L9556 (LPFHEO LILY BleHGVIIGSTS]

A) Evaluation
LI DS
B) Preparation
I pEIOEETELS
C) Pursuing
LAGSTLID DI S &
D) Planning
P L5
Correct Answer :- D) Planning

105 Educational psychology is concerned with :

F0af 2 aTa WL 6T C\GTL_FL{ewL_ W6 :

A) The learner
s

B) The learning process
SPDad QEwed e

C) The learning situation
FDMDGV 566V LD

D) All of these

Q@)emeu TS S LD

Correct Answer :- D) All of these



106 Which is Kohler's theory ?
Gamabefler Car’Lin® e1g ?

A) Operant Conditioning
QFwedLI® %5 BlevevuinFsLd

B) Insight learning
2 1I'STL & $Pm6D

C) Trial and Error Learning
(LLWSTD] UM FDD6d

D) Classical Conditioning theory
A FHBIO S DISDH

Correct Answer :- B) Insight learning

107 Who is known for curve of forgetting ?

DSSV UeeTCHTL (B 6T YMlwLiLi® e wrg ?

A) Ebbinghaus

6TLImIF Te

B) Bartlett
LmgLevgL

C) Mandler
esr” Gev

D) Adkinson

9/ L F)csrFeur

Correct Answer :- A) Ebbinghaus



108 Who said this statement "Education is not the filling of a pail, but the lighting of

109

a fire :

"gevall aT@TLIG @B B weusmw BILILeIg 2w, Guller geflweiolil" @D
FDODS FmPlwicg ?

A) Socrates

F1SJTIe 61D

B) Plato
L9Car "G

C) Aristotle
< flev_m 19 6D
D) William Butler Yeats
afleveSlwd L evd FL 6
Correct Answer :- D) William Butler Yeats

Stage the child gradually takes on symbolic meaning and mastery of
"symbols" in place of objects.

6Th% Blevevuiled GLobens Ogiaums GBS B igsseamsuLd O)LiImbeTsef e
QL smsud APEDS) :

A) Sensory motor stage
HasNwss aueTidd Bleoev
B) Pre-operational stage
Lp&T ClFwedLITL" (B Blenev
C) Concreate operational stage
L@BLIOLITIRAT UeTiF [Blewev
D) Formal operational Stage

sBLIGLIT(RaT Blewev ((Lpewmwimest GlFweLITL }) Blenev)

Correct Answer :- B) Pre-operational stage



110" Who said "Learning is a change in the individual following upon change in the
environment.

SODED GTGILIG F6vt) BLIFIGT @Bl LTPDSeS LIGILIDDIUSTEGLD" 6T6Tn)
ENONTOY)

A) Hilgard
QmlVEHTIL”
B) Woodworth
o " Qoumis
C) Hentry P. Smith
Qanard 19. av1Os
D) E.A. Peel
@.a7. L5ad

Correct Answer :- D) E.A. Peel

111 A VTVM is never used to measure :

@@ VIVM smpalwnersg Spssest_apenn a1ss e ,EL mgL
LWSTLUBHS SIS @)e0em6v.

A) Capacitance
1e1G55$% Bmes

B) Resistances
LIGETSML_S Fmest

C) Voltages
GoumevGrL_gd

D) Currents
LO)lGSTERTL L LD

Correct Answer :- D) Currents



112 In direct arc furnace, which of the following has high value ?
LD (LPS U aTey O\FTHSaTeatle ELpsenTL_maisaflcd 615 9 FHs LG LicnLI
Qupmierers ?

A) Current
10T Gestre” L 1b
B) Voltage
LTSI (LPSF LD
C) Power factor
FEF) UTWIBS FTTcT% T

D) All of the above

BoGev 2_6TaT 6TEVGVTLD

Correct Answer :- A) Current

113 The equation h,=@+T is called as :

gwerun® hy=e+T erarLieng eraleurm syewpssmd ?

A) Photoelectric effect
Rafer aflenaray

B) Compton effect
STHOLIL L 16T aflevaray

C) Hall effect
DT aienaray

D) Doppler effect

LmUuery a9enare

Correct Answer :- A) Photoelectric effect



114 Which of the following has the highest value of thermal conductivity ?
GG Clar®ssLILL L eeusafled 615 L% HF % OCleuLiL LD SDeT LOGLIL]
Qupmg ?

A) Water
& GuTGust
B) Steam
b7 gl

C) Solid ice
FL_ @av
D) Melting ice
2 (HGLD g6
Correct Answer :- C) Solid ice

115 The internal energy of an ideal gas is a function of its absolute temperature only

Q@B BONIGOL| 6UTW I GIT T YDDED TS YSenIenl W Sevfl OleuLiLs
Blewevenw FIibgl ()(HSSLD.

A) The Joule Thomson Effect
eoad — sMbavediar aflenaray
B) Joule's Law
L ailF)
C) The first Law of Thermodynamics
Qi Quésaluader wpsa oS
D) Maxwell's Law
GLogavGleucvadler afls)

Correct Answer :- B) Joule's Law



116 The packing fraction of the isotope is defined as the ratio :
Cus&ml Lgnsever (e0CFrGLmLl) L96@TeuBLomm e TwnISSLILIHFDS).

A) A=M-A
A=M-A

B) A=A-M
A=A-M

C) (o -M-A)

D) A=M-A
A=M-A

Correct Answer :- C) A

117 Which of the following has the lowest melting point ?
LeraupeuetaipPled 615 &H®MDBES 2 (5G Blewew O mesiL_g) ?

A) Copper
SO gL
B) Lead
SISSBISLD
C) Iron
QLo
D) Steel

Grooo@

Correct Answer :- B) Lead



118 Nitroxylic acid is :
@B Grrgedledld 9Lflevid 6TeTLIG)

A) HN,O,
H,N,O4
B) H,N,0;
H,N,0;
C) HiN,0;
HN,05
D) HiN;0,
H,N;04

Correct Answer :- A) HuNOq4

119 Tartrazine food dye gives this colour in food :

L gL gr@eer 6T 2 cwreyd FmuiLh o essrailed O&THSGHLD BImLD

A) Green
LIFeOF
B) Cherry red
Clgif FauLiy
C) Lemon Yellow
QLo Lo@haar
D) Bright Blue

LIGTLIGTS LD beVvLD

Correct Answer :- C) Lemon Yellow



120 Teflon is :

121

Ol Lieumest eTGTLIG)

A) Polyvinyl chloride
umedlewauated & Garreng(h

B) Polyvinyl fluoride
LITeSlen U esTeD Learh eI (h

C) Polytetro fluoro ethylene
umedQ_L g Ljean Gumers H) e et

D) Polymethyl methacrylate
L1m6S Glg%H e OogsTgHemTGevL”

Correct Answer :- C) Polytetro fluoro ethylene

Crystal violet is used in/as :

GfleovL_ e 20151 Q)P / @Q)@IuTDTS LIWGTL RS DS :

A) Making inks
W LOS T SUWTHSS

B) Dyeing of wool
FLOLIGNS @ FTWLD eTDD

C) Indicators
BIDEISTL 19 & 60T

D) Food dyes

2 _GRTGYF FITWIMBIF AT

Correct Answer :- A) Making inks



Ethane with the molecular formula C,Hg has :

CyHe eapavagmmr aumuitinim® Gasnesr e Gger Glamer(horTeng) :

122

A) 6 covalent bonds
6 55 L9eoeRTLILSOT
B) 7 covalent bonds
7 &5 L9evewTLiL|S6T
C) 8 covalent bonds
8 55 L9evewTLiL e
D) 5 covalent bonds

5 5% HewewmiLiysar

Correct Answer :- B) 7 covalent bonds

123 Leaf curl of peaches is caused by :
L5# g5 %0 @ewev FmaT Crrevw Campmiails@Hd Crryss)

A) Cercospora arachidicola
QaiGasmevCuimym 2ong &g Csmevr
B) Taphrina deformans
LMo LIJ)GOTIT 19 LITFLDOGITa)
C) Puccinia graminis
LS Fesilwim %) gmLd)esflev
D) Ustilago tritici
2 a1y CevBam L flL" 19 &)

Correct Answer :- B) Taphrina deformans



124 The special type of inflorescence found in Euphorbiaceae is :

W CuriliGued GBHLLLSH e SrewiLiLi(Bd ApLiL euens Lo@hFHluilesr GlLiw g :

A) Cymose
a&GLomad
B) Cyathium
FWTESWLD
C) Racemose
Qe GLomad
D) Umbel
9 LDLIGY
Correct Answer :- B) Cyathium

Who first attempted to produce artificial seeds in 1977 ?

1977 -1 a1 (LpserLpSedled ClFwphens aflenssenar o (heuTEds
LpuPFSSeug wmrg ?

A) Murashige
prmRGs

B) A.C. Braun
A.C. Ogrest
C) Skoog and Miller
oD LoPpILh LT
D) Lazar

QU

Correct Answer :- A) Murashige



126 Who developed meristem culture technique ?

SUEG B QUGTHLIL| (LPEODEOIW 2 (he TSHWeUF wiry ?

A) G. Morel
G. Gurge

B) F.C. Steward
F.C. s ®auri®

C) P.R. White
P.R. guii”

D) J.P. Nitsch

J.P. B ok

Correct Answer :- A) G. Morel

127 Formation of ATP during light reaction is called as :
gaflaflenaruilerGuirg ATP o (peungemev @aleurn eopssLiL@S DS

A) Photo Phosphorylation

o Cuim” Gr_muimev GLimd) Gevayesr
B) Respiration

FQUTFHS S 60
C) Transpiration

pomaill: GLnss,
D) Photosynthesis

RaflFCFisems

Correct Answer :- A) Photo Phosphorylation



128 Mosaic symptoms indicate :
BD3SL0 SyflGHse Qs GPEH DS :

A) Reduction of protein
G@pairer LgEHIse

B) Reduction of Chlorophyll
GO AUTET LIS WIS aT

C) Increase of chlorophyll

YD FLOMTGT LIFGHFUIBIS T
D) Increase of Carbohydrate
Y GBsLomet s1iCGLmenant” GrL’ st
Correct Answer :- B) Reduction of Chlorophyll

129 Defective B-globin chain leads to cause the disease is :

B-@Cermiier #mHeuled arpLBLd GemUTL L T6d 2 esrL_m@Ld Cpmul

A) Sickle cell anaemia
PgFer GlFed yevfLblwm

B) Cystic fibrosis
Fov19 & ewLIGTTH e
C) Essential pentosuria
9SG wreuFw Qe mevwyfuim

D) Galactosemia

BrevsCL_mevBlwm

Correct Answer :- A) Sickle cell anaemia



130 Change in the number and structure of chromosomes leads to :
&CurGrGaribsafles eresstent|%enad LOHMILD e LDLILIGD eTBLI(HLD LDTHMD MBI GIT
QBHG ) MGEGLD.

A) Natural selection
Qupmsg Gsiay
B) Speciation
HBw Qe GsappLd
C) Ploidy
ermuing
D) None of them
Q@ eupmier ergiLhd (Q)eenev

Correct Answer :- C) Ploidy

131 From the following sexually transmitted diseases, one which does not
specifically affect the sex organs :

SpaumLd urevailenear Grruiseled e1ps Crmul GMILILITSG LT o miLienL
LT@LILISe0emev ?

A) Syphilis
GuossLi Lyesst | Fo%Lia8ad
B) Gonorrhea
CuwsQeu e Crmui/ QFrCetuim
C) Genital wart
IpLLpILe sraenT/ Qsaf e aumiL
D) AIDS
erui"av / AIDS

Correct Answer :- D) AIDS



132 Fungal diseases in fish can be treated with :
Baisafled PG LyehenF QFmHenn GenrLiLi(hgs Copolsmeresld HEFenss @,
Q@)FaT LWSTL(HSSVTLD

A) Common salt solution
FASTIGHT 2 LIL|S F6®TFGV
B) Potassium permanganate solution

Quml L r®wid O ugiormisGestL. 6w IFev

C) Copper sulphate solution

STLILT FOBLIL. 6 IF0
D) All of them

CopsesiL sjeneggih (Q)emeu yeaTsgLb)

Correct Answer :- B) Potassium permanganate solution

133 The volume of air inspired or expired with each breath during normal quiet
breathing is called :

esfl% mIewTuiTeVTeTS FI%TIewT Blemevule FeuTHss50MTGCLITS 2 L HauTFLd
(S1vevg)) OleualdsHeuTssS e eLpGVLDTGS SIDHHIGT 2aT6y Q) aIeuTn
9D LPSHSLILIGFDS]

A) Tidal volume

L L& Gsmareare
B) Residual volume
QP Paicd GFmataray
C) Inspirations capacity
o 1" Founes Dneir
D) Expiratory capacity
OeuafdaalnTes et

Correct Answer :- A) Tidal volume



134 The function of copper-T is to prevent :
Qs SOLILGISTRT HTLILILG — 1§ FISH6TSF 6T LIS T@GLD :

A) Implantation of fertilized ovum
FBRDD WLl LGB 5HF50
B) Development of egg
FewestLpL el _uileT uaTiFReW &HSP60
C) Egg maturation
Hevarup e et (pFIFHow 5BS556
D) Ovulation

eI HLiL) (2ye0r_Glouafl$sarere)

Correct Answer :- A) Implantation of fertilized ovum

135 Qgnevasriiuid Qurgsid assmar @Quicdsemard GsTast(®erorg) :
A) 21
B) 27
C) 24

D) 29

Correct Answer :- B) 27



136 sanpeilenat o 551 oIS
oar. " (HLD GTGUTLIG2_LD
ST WL LIGsTLITS

... @aleuflsar @)L b QP Hmrev :

A) SLOLIFTLMWERTLD
B) faus&psmioent
C) FLILIFSTILD
D) taflGsame

Correct Answer :- C) SevliL@smyd

137" sravgsise oo pror ws9,
Gagrewfl uBHDG ... @SsewevLiLied Lgissallens 61(pB Gleuafluil L e

A) FECHT 9 LI%I J@&LDTEHT

B) Q&g

C) ®aurwpssl

D) #Gur® sLblperLier

Correct Answer :- D) #Gpr® sLilipesriier



138 <penssGsmy gyerallcdenev

139

9 F 0 TBISL 19

g afleid a6 155 Gev

gy emest GlFewGeu Blewestaur
. GTGSTLI LIMLY UIGU [

A) SmuyLonesial s

B) UATATGV T

C) LD TeWT & B 6V TFSH [T

D) #B30d

Correct Answer :- A) gmujonestad

eHLIMTaUS), TS GTRIGLD [bTL_&HBEISENET 6T(LHSH WIS

A) SmISISTOV &G6uTL)s e

B) ufi@omp semevesd

C) ULDLO® FLOLIBS (LPSOIWTH

D) eflyerarpsi

Correct Answer :- B) ufi@wmp seoevepi



140 Qummer erairenyd Cumuiwm eferEsLd (@)(HaT MisbE@HLD

141

stewrenilw O wsgF OlFein)

@maer— 753
- @Qa@pLuTailed LUNGTDIcHLD 96w

A) spGPILICLDD 3jewl)
B) u@H&LI L&LpEE) sjut]
C) 35G35 2 (heusk 96wl

D) Q-G Qomflsed et

Correct Answer :- C) a5Gss 2 (pous oyes]

FHOUTHTL [ 61T He®LpSHLT ClLIPDeu

A) uLlyergsmi

B) smywrerarg

C) FRSLOLIT FeUTLOFaT

D) e Linenf] saunillsar

Correct Answer :- A) w9 eggmi



142 FHTWTHBTGV Y LOGHLOWITH LITLY WIS
A) 2ADLSS DBpSTS
B) 9@CausiLepewng Spsrs)
C) <gmb) 2psns)

D) 8®30snetiL i §BapsTE

Correct Answer :- A) 9pss BBHauBSTH
143 @aiiuBsmrsms @LIOLwg CETessTHILD eOLPLILIT :
A) 2@sLl Glungioeop
B) Ouegs smifwib
C) ®WLossar smililuLh

D) Olsuian aurgs

Correct Answer :- C) @wssar smilfud



144 o paeir @wBs L6 Yyeuanestd Frip Gy ClFwewpn BHLIg)

A) 2-arer plancy
B) ®swmnl Blevev

C) smus pleavew

D) @as&ean

Correct Answer :- B) ewswm Blevev

145 @)oo Ten e NesT & (heuTsHs HHSLIL LGS .

A) Bowrest 15 BLoLd
B) wgnsg L g
C) Lewreaumar Lom(Lpesi S aT

D) 9®&Csr 1qud pLod

Correct Answer :- D) @@5sCsm g uyd pLord



146 Qeersfw wanuied Dorel Pa e1as @GPFsLI QLipiLies :
A) SG@rasbLpsT
B) &#psoi
C) Sopressisi

D) tonewllssanssi

Correct Answer :- A) & @pTeTFLOLIBS T

147 LJLTISS &(HEHWS T BenFFFHMald FSe I GT(LOPUIRIT .

A) LoD SET

B) 9@.af.s.
C) 2P ehI o ewsewrm

D) QfgLom(Lpestleu i

Correct Answer :- D) afgwompetias



1B Lo gpms supPu srevseser e :

149

A) Quraiewt SradlwiLh

B) Ge&r gmessr_cuih

C) QCws smaflwid

D) Qo sraflwib

Correct Answer :- A) @) gmeuenr sraflwid

2 GRTL_Te) YLOLD @)@ IeVELD, Q)BT
YLOPS LD Qevweug gy ullenid Q)eslgeTans
sllwg 2 ew1L_gd @Gy —

SLOPT LIGRKTEN LIS FonmILD BTGV :
A) &ESDIBIDI

B) &a50s1ms

C) uppTIDI

D) moslenent

Correct Answer :- C) ympreimi



150 eooeu RE5185 18P umiser siend &HSLILGL HIOSGNGT cTenTenisms :

A) 12
B) 16
C) 14

D) 18

Correct Answer :- C) 14

* Indicates all the options are incorrect, marks will be awarded for the respective questions during the evaluation.



